“REB<KZEZRDHDS> No.l

1. WOBWIZEZ RS0,

D ylFzo2F IHFIL, 2 =DLEy=-1T
T,y &z DOXTERLAEI,

.

(2) yiXdaxD2FHHIL, 2 =20 & y=24T
T,y & DR TERLRZ I,

pia

B) ylZzD2FTIIHAHIL, 2 =8DL & y=—-64 T
Ty kO TERLAES,

5

= .

@) yidax 2R IZHHFIL, 2 = 6DLE y =
144 TF, y & a DX TERLRZI,

%

B) yldaz 2R CHFIL, 2 =-2DLETy=24T
oy Zzax D TERLARSUY,

6) ylIzD2FIZHHIL. 1 =6D & & y=—-288T
T,y & x DX TELRI,

.

(7 ylXaD2FIHAHIL, 2 =4DLEy=32T
Ty & DRTERLERIVY,

S

®) ylZaD2RIZHFIL, 2 =-4DLZTy=96T
T,y &z OXTELESI,

i

) yidzo2RIZHHIL. 2 =4DLEy=16T
T,y x DX TELRZI,

%

(10) yiXz D2FICHBI L, o= -5DLXy=125T
T,y % x ODATRLRZI,




“REBM<AZEZRDHDS> No.2

1. WOBWIZEZ RS0,

D) ylda 2R IHFIL, 2 =4DEEy=-32T
Toym o DOXNTRLAES D,

.

(2 yiXdaxD2FIHHIL, 2 =20L&y=12T
T,y & DR TERLRZ I,

pia

@) yllazD2FIIHHI L, 2=-3DLEy=27T
T,y x DR TELRZI,

5

= .

4) ylZzD2FIHFIL, 2 =—-4DLEy=96T
T,y & x DR TELRIV,

%

B) yldaz 2R CHFIL, 2 =-2DLETy=24T
oy Zzax D TERLARSUY,

6) yldzD2RIZHFIL, 2=-3DLEy=187T
Ty %o D TRLARIV,

.

My 2FTIZHFL, 2 = 60Xy =
324 TH, yzx DATRLR IV,

2

B) ylIazD2RFZHHIL. 2 =9DE & y=—486T
T,y &z OXTELES,

i

9) ylZzD2RIHH L. o= -2t & y=—-36T
Ty kO TERLES,

%

(10) yiZz D2F/IIHFIL,. 2=8D L& y=—-64T
T,y &z DOATELEIN,




“REBM<AZEZRDHDS> No.3

1. WOBWIZEZ RS0,

D) yiXozo2FZHHIL, 2 =4DLEXy=16T
T,y & x DX TELRI,

.

(2) ylZxD2FHFIL, 2=-3DLEy=-9T
T,y & x DRATHRLZEI,

s

3) ylda D 2R ITHAHIL, 2 =4DLEy=-144T
Ty o OXTERLESN,

by

= .

Q) ylidzo2RIIHFIL, 2 = DEEy=-5T
Ty DATRLARS,

%

B) ylz D 2FIZHPIL. 2=6DL & y=-T27T
T,y &z DOATELEIN,

6) ylzo2FIZHHIL, c=5DL & y=—-150T
T,y & x DX TELRI,

.

7 yiXaD2FIIHHFIL,. 2 =20LXy=367T
Toym o ODXTRLAES N,

S

®) yltad2RIZHFIL, 2=-2DLEy=167T
Toym o DX TRLAESI N,

i

9) yldazD2FIIHHI L. 2 =4DL & y=-48T
T,y x DX TELRZI,

s

(10) yliZz D2 FIZHHI L, 2 = DX y=-9T
T,y &z DR TERLRZI,




“REBM<KERDHDS> No.d

1. WOBWIZEZ RS0,

D yldaD2RIHFIL, 2=-3DLEy=27TT
Toym o DX TRLAESI N,

.

(2 yiXdaxD2FIHHIL, 2 =20L&y=12T
T,y & DR TERLRZ I,

pia

Q) yioo2FHpI L,z =-3DLXxy=-72T
Ty kO TERLAES,

5

= .

4) yldaD2F|ICHFIL, 2 =208 Xy =36T
T,y & x DX TELRI,

%

B) ylozo2FIWUFIL. 2= -DEEy=-9T
T,y &z DOATELEIN,

6) ylkz D2RICHHIL, o= —DEXy=-2T
T,y ez DATERLAES,

.

(7 ylZaD2FTIZHFIL, 2 =—-4DLETy=96T
Toym o DXTRLAES D,

S

®) yltad2RIZHFIL 2 =2DLEy=-36T
T,y &z OXTELEI,

i

9) yiXazD2FZHHIL,. 2 =6DL X y=288T
T,y x DX TELRZI,

%

(10) yiZz D 2FICHBIL, 2 =8 DL & y =576 T
T,y & x ODATRLZI,




“REBM<AZEZRDHDS> No.b

1. WOBWIZEZ RS0,

(1) yldzD2RIHFIL, 2 =TDE X y=—294T
T,y & x DATRLZEI,

.

@ ylXarx2FZHFIL, 2 = 8DLEy =
128 TF, y B 3 ORTE LA S,

s

@) ylazo2FTIIHHI L. 2 =20t y=-36T
T,y DX TERLRZI,

5

= .

4) ylZzD2RITHFIL, 2 =4DL & y=—-48 T
T,y & x DR TELRI,

%

5) ylka D2RICHHIL. 2 = —DLE y=4T
T,y &z ORTELAS,

6) yiao2FTIHHIL, 2 =3DE Xy =63T
T,y & x DX TELRIV,

.

(M) ylXx D2 /IZHHI L, 2= -2DLZy=-36T
Ty &z OXTELES,

S

Q) yidaD2FIZHHIL, 2 = 6DLXy =
324 CTY,y & x DN TELRI,

i

Q) yidoaD2FIZHHIL, 2 = -5bDLXy =
—100 C¥, y & x DI TELR I,

i

(10) y Xz D2FIZHBIL, 2 = -6 DL Xy =
—144 TY, y 2z OXTELAR I,




